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Xt 1 + Aot

MEA HEBEASE FEEIASLICL

2024-25 HE

A IX[Y: LAWY BLIH|, 2 ST, =28, 0|A| AL} st 950
H& WY =2 | B HE | 24 A
St H|8 ZHA

ShH|(Ll"gH| oz 2 xah 1| ¥ | $17,000 | $17,000 | ¥16,150,000
ALI|HE 9zt 20| U2

T4 HIX HH|ES

MM AALCHALEHH| X} Fee & 1| EA $600 $600 #570,000
IGE Stul$=<H|8 1] EA $55 $55 #52,250
IGE “Z& AMH|A(MEH) 1] EA | $2,100 | $2,100 | 1,995,000
StER(HEE) 2| ¥ | $2,000| $4,000| #3,800,000
SHR0 oz B 1| EA $673 $673 #639,350
HHE A HIBE

ESZOLHEH] 50%) 1 $1,400 | $1,400 | 1,330,000
H E H|-2 (One Bed) 12 | 7HE | $2,800 | $33,600 | #31,920,000
IKEA 7t 7|2 ZHENE 1 $3,000 | $3,000 | 2,850,000
(take over 2| A2 <F $1500 ")

THztE 2S(E) 1 $0 #0
O WEH8E

SAE (7], M2 AH U, TV) 12|74 $300 | $3,600| 3,420,000
X2 X|(GAS) 12| 71 & $500 | $6,000 | 5,700,000
M2 F Q4 12 | 702 | $1,400 | $16,800 | 15,960,000
s &= 12 |74 $300 | $3,600| 3,420,000
At SH|E(AZHE $20 - $50) 1270 | 7

OiS X|= H[& otH| =7|HME H[E H 2| ¥5,035,000
Hofl o HIE A #87,806,600
2 @A e o HIE #77,209,350




At 2 + Aot

A X LAY BHLIH| AR ST A8 0[A|ALa}

et= 950
H& LY =2 | £l | HE A A
st HE A
ShH|(MgH 2z 2 =gl 2| €9 | $17,000| $34,000| ¥32,300,000
DRI ozt 20| UL
=& H|XF HH| 85
MHA[ZALCHALH| X} Fee & 1| EA $850 $850 #807,500
IGE Stul=5H|E 1| EA $55 $55 #52,250
IGE “‘Z&F MH| (415 1| EA $2,100 $2,100 #1,995,000
dER(EE) 3| 9 $2,000 $6,000 5,700,000
SH0L o2 H 1| EA $673 $673 #639,350
HUE &H HES
HES SO A EH| 50%) 1 $1,700 $1,700 #1,615,000
H E H|-&(Two Bed) 12| 7H& | $3,400| $40,800| 38,760,000
IKEA 7t 7|2 71N E 1 $4,500 $4,500 #4,275,000
(take over O] A 2F $1500 M)
THzlE 25 H) 1 $0 #0
O MeH|8S
St 7], e AHE TV) 12| 7HE $350 $4,200 3,990,000
Xtk X|(GAS) 12| 7H¥ $600 $7,200 #6,840,000
Mz F Q4 12 W& $1,700 |  $20,400 |  #19,380,000
s gs 12| 7HE $500 $6,000 5,700,000
At SH[E(A[ZHE $20 - $50) 12| 74 777
OiE X|& H|-E otd| x=7|ME H|E e T

A 2|

Hefl ofle HIE A

W122,054,100

¥107,609,350
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BN 9, MEAL siSX|H: RELYE| M| OfHEZE S Bl EE|O}

et= 950
H& LY =2 | £l | HE A A
st HE A
SHH|(MEH| Q22 = 1| € | $17,000| $17,000 | #16,150,000
ARI|BY ozt 20| QUL
=& H|Xt HH| 85
MK ZALCHAL2HH| Xt Fee & 1] EA $600 $600 #570,000
IGE Stul=5H|E 1| EA $55 $55 #52,250
IGE H&F AMH|A(MEH) 1] EA $2,100 $2,100 #1,995,000
dSEHEE) 2| 9 $2,000 $4,000 #3,800,000
SHrdnt oz 2 1| EA $673 $673 #639,350
HHE &H HES
HESF(OHHEH| 50%) 1 $1,050 $1,050 #997,500
2l E H|-2(One Bed) 12| 70 | $2,100 | $25200| 23,940,000
IKEA 713 7|2 7t M & 1 $3,000 $3,000 %2,850,000
(take over O] A 2F $1500 M)
=H2tE 2&(ME) 1 $0 %0
O MeH|8S
ropl p=y kel Al = DU AY) 12| 7HE $300 $3,600 %3,420,000
KR X[(GAS) 12 7Hg $500 $6,000 #5,700,000
MEE Q4 12 7H& $1,400 | $16,800 | 15,960,000
s gs 12| 7HE $300 $3,600 %3,420,000
Atu S H| & (A ZHE $20 - $50) 12 W& 277
OiE X|= H|E otd| =7|ME H|E

¥4,370,000
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2 | E o HIE #69,229,350
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=N o, MEAL siSX|H: RELYE| M| OfHEZE S Bl EE|O}

et= 950
H& LY =2 | £l | HE A A
st H|E A
SHH|(AMHH| Q22 H ET) 2| € | $17,000| $34,000 | #32,300,000
ARI|BY ozt 20| QAL
=& H|Xt HH| 85
MHA[ZALCHALH| X} Fee & 1| EA $850 $850 #807,500
IGE Stul=5H|E 1| EA $55 $55 #52,250
IGE F&F MH| A (4E) 1] EA $2,100 $2,100 #1,995,000
dSEHEE) 3| 9 $2,000 $6,000 5,700,000
SHrdnt oz 2 1| EA $673 $673 #639,350
HHE &H HES
HES SO A EH| 50%) 1 $1,300 $1,300 %1,235,000
2l E H|2(Two Bed) 12| 70 | $2,600 | $31,200| 29,640,000
IKEA 7t 7|2 ZHENE 1 $4,500 $4,500 #4,275,000
(take over O] A 2F $1500 M)
THzlE 25 H) 1 $0 #0
O MeH|8S
ropl p=y kel Al = DU AY) 12| 7HE $350 $4,200 3,990,000
KR X[(GAS) 12 7Hg $600 $7,200 #6,840,000
MEE Q4 12 7H& $1,700 |  $20,400 | #19,380,000
s gs 12| 7HE $500 $6,000 5,700,000
Atu S H| & (A ZHE $20 - $50) 12 W& 277
OiE X|& H|-E otd| x=7|ME H|E

5,462,500
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Hefl o BHE A

W112,554,100

2 AKX A Ol H

2
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¥98,489,350
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